## **RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL** (Citizen Participation Certification for ICDBG FY 99)

RESOLUTION NO. 99-221

1	WHEREAS,	the Tohono O'odham Nation is submitting an application to fund three
2		Early Childhood centers at Santa Rosa, Vaya Chin and Pisinemo
3		communities through the Indian Community Block Grant Program and
4		in connection with the approved grant, resolves and makes certain
5		assurances; and
6	WHEREAS,	prior to the submission of this request, the Tohono O'odham Nation has
7		provided tribal citizens, especially those living in these areas where
8		activities are proposed, with adequate information concerning the amount
9		of funds available for proposed community development and housing
10		activities that may be assisted, and other important program
11		requirements, and solicited their views and participation at District
12		meetings prior to and at the time District resolutions were passed; and
13	WHEREAS,	the traditional Tribal means of citizen involvement were followed
14		through District Council meetings and Tohono O'odham Legislative
15		Council meetings; and
16	WHEREAS,	comments or views expressed by Tribal members were considered and
17		modified the application accordingly.
18	NOW, THER	EFORE, BE IT RESOLVED that the Tohono O'odham Legislative Council
19		hereby certifies that the Tohono O'odham Nation provided its citizens
20		with the opportunity to participate in the development of the proposed
21		Community Development Block Grant request.
22	BE IT FURTE	HER RESOLVED that no part of this paragraph shall be construed to restrict
23		the responsibility and authority of the applicant for development of the

RESOLUTION NO. 99	9-221			
(Citizen Participation	Certification	for IC	DBG FY	99)
Page 2 of 3				·

application and the execution of its Community Development Block Grant program. Accordingly, the citizen participation requirements of this paragraph do not include concurrence by any person or group involved in citizen participation in making the final determinations concerning the findings and content of this proposal. The sole responsibility and authority to make such final determinations rests exclusively with the Tohono O'odham Nation Legislative Council.

The foregoing Resolution was passed of MAY, 1999 at a meeting at which the AGAINST; -0- NOT VOTING vested in the Council by Section O'Odham Nation, adopted by the approved by the Acting Deputy A March 6, 1986, pursuant to Section	h a quorum was ; and <u>189.0 [08]</u> [(f) of Article VI Tohono O'Odha ssistant Secreta	present with a vote ABSENT, pursuan I of the Constitution Im Nation on Janua ry - Indian Affairs	of <u>1,738.0</u> FO at to the powe n of the Tohor ry 18, 1986; ar (Operations) o	R; ers no nd
	TOHONO O'C	DHAM LEGISLAT	TVE COUNC	IL
	Du	2		
		, Legislative Chairr		
	$\frac{7^{1/2}}{2}$ day of	May-	_, 19 <u>99</u>	
ATTEST:		ŕ		
Xul fant				
Julianna Saraficio, Acting Legislat	ive Secretary			
6 day of May	,19 <u></u> 99			
Said Resolution was submitted for	approval to the o	ffice of the Chairma	n of the Toho	no
O'Odham Nation on the 713				
12:04 o'clock, P.M., pursuant	_			
Constitution and will become effect	tive upon his ap	pproval or upon his	failure to eith	er
approve or disapprove it within 48	hours of submi	ittal.		

	RESOLUTION NO. <u>99-221</u> (Citizen Participation Certification for ICDBG FY 99) Page 3 of 3
1 2 3	TOHONO O'ODHAM LEGISLATIVE COUNCIL
4	Dennis Ramon, Legislative Chairman
5	
6	
7 8	APPROVED on the 7 day of 700 1999
9 10	[ ] DISAPPROVED at <u>(2.17</u> o'clock, <u>M</u> .M.
11	1
12	
13	Henry Ce, Ramon EDWARD D. MANUEL, Chairman
14 15	EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION
16	TOHONO O ODITAM NATION
17	
18 19	Returned to the Legislative Secretary on the day of
20 21 22	May , 19 99 , at 2:13 o'clock, p.M. Denne M. Sour for
23	Denne M. Jour for
24	Julianna Saraficio, Acting Legislative Secretary
25	
26	
27 28	
29	
30	
31	
32	
33	
34 35	
36	
	li de la companya de

**ACTION: CITIZEN PARTICIPATION CERTIFICATION FOR ICDBG FY 99** 

MOVED: COUNCILMAN TONY BURRELL

SECOND: COUNCILWOMAN FRANCES MIGUEL

DATE:

MAY 06, 1999

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
CHUKUT KUK 189.0	1. DAVID GARCIA (Marvin Thomas) 2. KENNETH WILLIAMS	94.5 94.5				х
	(Arnold F. Smith Sr.)	34.3				Х
HICKIWAN 146.0	1. ALEX JOSE	73.0	x			
	2. LLOYD FRANCISCO (Susan Sam)	73.0	Х			х
GU VO 142.0	FERN SALCIDO     (Larry Montana)	71.0	x			х
	2. GLORIA MONTANA (Phillip Antone)	71.0	х			
SAN LUCY 114.0	1. JOHN RENO (Mary Hoffman)	57.0	х			х
	2. ALBERT MANUEL, JR. (Jana Montana)	57.0	х			
PISINEMO 139.0	1. BARBARA SALVICIO	69.5	х			
139.0	2. JOHNSON JOSE	69.5	x			
GU ACHI 190.0	1. LOUIS JOHNSON	95.0	х			
190.0	2. ALEX J. RAMON ( )	95.0	х			_
BABOQUIVARI	1. FRANCES MIGUEL	129.0	x			
258.0	2. FRANCES G. ANTONE (Edward N. Kisto)	129.0	х		_	
SAN XAVIER 146.0	1. TONY BURRELL	73.0	х			
	2. DENNIS RAMON ( )	73.0	X			
SCHUK TOAK 120.0	1. JOSEPH JUAN	60.0	х			X
120.0	2. AMBROSE ENCINAS	60.0	х			
SELLS 322.0	1. DENNIS E. JOSE	161.0	х			
322.U	2. EVELYN JUAN ( )	161.0	х			X
SIF OIDAK 161.0	1. RITA MARTINEZ (Maxine Norris)	80.5	x			х
101.0	2. MARY ANN ANTONE (Darlene Andrew)	80.5	х			
T	OTAL	1,927.0	1,738.0	-0-	-0-	189.0 [08]